
Pre-Calculus - Honors

Homework #53

Lesson 53
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Answers

From Houghton- liiff lin Precolculus : 3d Edition
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11) sin 1O5o = sin(6oq + 45') = sin 6Oo cos 45" + sin 45" cos 6Oo

, = (17/2r€tz) + (€/a){t12, = ([€lq + (EIa) = {6-* .J2

cos 1O5' = cos(6oo * 45") = cos 6O cos 45" - sin 60" ,il +S"

= etzYEl4 - (.€-,t2X€/2) = (,12/q - N6tq = {2 - {6
4

ton 1O5" = ton(6o" * 45") = ton 6o0 + ton 45" = (rF) + I =
I - ton 6Op ton 45" 1 - ("/5Xl)

13) sin 195" = sin(225' - 3O") = sin 225" cos 3Oo - cos 225" sin 3O"

I = G^ElzN.lFtz, - G€tz){ttz') = (-16/4) - (-Etq, = -./e* .JZ-

4
'ios 195" = cos(225" - 3O") = cos 225" cos 3o" + sin 225" sin 3o"

= ('.Etzr€tz) " FlTtzKt/z) = G.lU+1 * G.€/q = -"{6 - E
4

ton 195o = tan(225o - 3Oo1= ton 225 - ton 3O = (11- (Q3) = t- {il3
I - ton 225. ton 30e I + (tX{3/3) t * €/g

22) cos 2Oo cos 3Oo'* sin 2O" sin3o" = cos(2@ - 3O") = cos(-lOo) or cos 35Oo

23) ton 325" - ton 86" = ton(325" - 86") = ton 239"
1 + ton 325" ton 86"

For 35-38:
If sin u = 5/13 ond u is in Qrodront I, then cos u = t2/13
If cos v = -3/5 ond v is in Quodront II, then sin v = 4/5
35) sin(u * v) = (5/13X-315) + (12/t3X4/5) = (-15165) " (4/64) = 33/55
36) cos(v - u) = (-3l5Yt2/13) + (4/5X:5ll3) = (-36/65) + (20/65) = -16/65
37) cos(u * v) = (12l13X-3/5) - (5lt3[4/5) = (-36165) - (20165) = -56165
3s) sin(tl - v) = (5/13X-3 /5) - (4/5[t2/t3) = (-r5 rcq - (pl8il65t = -63165

47, sin(x + y) * sin(x - Y) = 2 sin x cos y
sin x cos Y + cos x sin Y + sin X cos y - cos x sin Y = 2 sin x cos y

2sinxcosy=2sinxcosy


